
SAP ABAP table /BEV3/CHPT_STD {Structure Data from /BEV3/CHABRSTZ_K and -P for Item Texts}

_BEV3_CHPT_STD

MANDT [CLNT (3)]

YVORGE [NUMC (4)]

VWDART [NUMC (4)]

BUKRS_TM [CHAR (4)]

VKORG_TM [CHAR (4)]

VTWEG_TM [CHAR (2)]

SPART_TM [CHAR (2)]

WERK_TM [CHAR (4)]

VWD_LAND [CHAR (3)]

VKORG_BCH [CHAR (4)]

VTWEG_BCH [CHAR (2)]

SPART_BCH [CHAR (2)]

WERK_BCH [CHAR (4)]

SPRAS [LANG (1)]

VKORG_LSTG [CHAR (4)]

VTWEG_LSTG [CHAR (2)]

SPART_LSTG [CHAR (2)]

BUKRS_LSTG [CHAR (4)]

WERK_LSTG [CHAR (4)]

VBKL_TM [CHAR (4)]

RI_TM [NUMC (6)]

_BEV3_CHCTRGI

MANDT [CLNT (3)]

RGIDENT [NUMC (6)]

 /BEV3/CHPT_STD-RI_TM = /BEV3/CHCTRGI-RGIDENT 

0..N

1

_BEV3_CHCTVB

MANDT [CLNT (3)]

VBKLASSE [CHAR (4)]

 /BEV3/CHPT_STD-VBKL_TM = /BEV3/CHCTVB-VBKLASSE 

0..N

1

_BEV3_CHTBVORGE

MANDT [CLNT (3)]

YVORGE [NUMC (4)]

 /BEV3/CHPT_STD-YVORGE = /BEV3/CHTBVORGE-YVORGE 

0..N

1

_BEV3_CHTVWDART

MANDT [CLNT (3)]

YVORGE [NUMC (4)]

VWDART [NUMC (4)]

 /BEV3/CHPT_STD-VWDART = /BEV3/CHTVWDART-VWDART 

0..N

1

T000

MANDT [CLNT (3)]

 /BEV3/CHPT_STD-MANDT = T000-MANDT 

0..N

1 T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 /BEV3/CHPT_STD-BUKRS_LSTG = T001-BUKRS 

0..N
1

 /BEV3/CHPT_STD-BUKRS_TM = T001-BUKRS 
0..N

1 T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 /BEV3/CHPT_STD-WERK_BCH = T001W-WERKS 

0..N
1  /BEV3/CHPT_STD-WERK_LSTG = T001W-WERKS 

0..N

1  /BEV3/CHPT_STD-WERK_TM = T001W-WERKS 0..N

1
T002

SPRAS [LANG (1)]
 /BEV3/CHPT_STD-SPRAS = T002-SPRAS 

0..N1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 /BEV3/CHPT_STD-VWD_LAND = T005-LAND1 

0..N

1

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 /BEV3/CHPT_STD-SPART_BCH = TSPA-SPART 

0..N

1

 /BEV3/CHPT_STD-SPART_LSTG = TSPA-SPART 

0..N

1

 /BEV3/CHPT_STD-SPART_TM = TSPA-SPART 
0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 /BEV3/CHPT_STD-VKORG_BCH = TVKO-VKORG 

0..N

1

 /BEV3/CHPT_STD-VKORG_LSTG = TVKO-VKORG 

0..N

1

 /BEV3/CHPT_STD-VKORG_TM = TVKO-VKORG 0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 /BEV3/CHPT_STD-VTWEG_BCH = TVTW-VTWEG 

0..N

1

 /BEV3/CHPT_STD-VTWEG_LSTG = TVTW-VTWEG 
0..N

1

 /BEV3/CHPT_STD-VTWEG_TM = TVTW-VTWEG 
0..N

1


